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Round the numerator and denominator to any place value that leaves no reminder. Answers 

may vary. 

 

68.32 ÷  2.47 

=  

=  

38.64 ÷  7.72 

=  

=  

88.22 ÷  4.40 

=  

=  

98.47 ÷  9.74 

=  

=  

140.55 ÷  8.92 

=  

=  

62.47 ÷  4.82 

=  

=  

74.89 ÷  5.18 

=  

=  

433.69 ÷  7.28 

=  

=  

71.92 ÷  5.78 

=  

=  

56.14 ÷  7.48 

=  

=  

620.32 ÷  2.28 

=  

=  

35.84 ÷  5.9 

=  

=  

126.62 ÷  4.88 

=  

=  

96.27 ÷  7.84 

=  

=  

168.2 ÷  7.20 

=  

=  

Dividing Decimals with no Remainder 
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Round the numerator and denominator to any place value that leaves no reminder. Answers 

may vary. 

68.32 ÷  2.47 

=  68 ÷  2 

=  34 

38.64 ÷  7.72 

=  40 ÷  8 

=  5 

88.22 ÷  4.40 

=  88 ÷  4 

=  22 

98.47 ÷  9.74 

=  100 ÷  10 

=  10 

140.55 ÷  8.92 

=  140 ÷  10 

=  14 

62.47 ÷  4.82 

=  60 ÷  5 

=  12 

74.89 ÷  5.18 

=  75 ÷  5 

=  15 

433.69 ÷  7.28 

=  434 ÷  7 

=  62 

71.92 ÷  5.78 

=  72 ÷  6 

=  12 

56.14 ÷  7.48 

=  56 ÷  7 

=  8 

620.32 ÷  2.28 

=  620 ÷  2 

=  310 

35.84 ÷  5.9 

=  36 ÷  6 

=  6 

126.62 ÷  4.88 

=  130 ÷  5 

=  26 

96.27 ÷  7.84 

=  96 ÷  8 

=  12 

168.2 ÷  7.20 

=  168 ÷  7 

=  24 

Dividing Decimals with no Remainder 


